

ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			EPB525-W 2-Pack		
EPB	1	EVE8FR3PB	84" Long, Power Beam Basefeed Power Entry, Flexible Vinyl Conduit, Snaps to Power Distribution Housing, Includes Bracket to Attach to Vertical Cover, Must be Hardwired by a Licensed Electrician	\$ 484.00	\$484.00
2	1	EVE8PD60	Skipped Option 60", Power Distribution Housing	\$ 259.00	\$259.00
3	1	EVE8RD1WHT	Skipped Option #1 Utility Circuit, Duplex Receptacle, White, Use an I-Connector w/ Duplex to allow for an additional Duplex in 66"w and 72"w Raceway	\$ 41.00	\$41.00
4	1	EVE8RD2WHT	Skipped Option #2 Utility Circuit, Duplex Receptacle, White, Use an I-Connector w/ Duplex to allow for an additional Duplex in 66"w and 72"w Raceway	\$ 41.00	\$41.00
5	1	EVE8RDAWHT	Skipped Option A, Dedicated Circuit, Duplex Receptacle, White, Use an I-Connector w/ Duplex to allow for an additional Duplex in 66"w and 72"w Raceway	\$ 41.00	\$41.00
6	1	EVE8RDBWHT	Skipped Option B, Dedicated Circuit, Duplex Receptacle, White, Use an I-Connector w/ Duplex to allow for an additional Duplex in 66"w and 72"w Raceway	\$ 41.00	\$41.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
7	1	EVPBE60	6"h x 60"w, Power Beam Raceway w/ Electrical Cut Out for Basefeed, 3 Knockouts, Aluminum Top Cap, Shortened Aluminum Bottom Trim for Electrical Access, Bracket to Connect Vertical Cover w/ Leg (Sold Seperately), Power Not Included	\$ 460.00	\$460.00
			Skipped Option		
			~STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
8	1	EVPBFCG36	36"h x 6"w x 3"d, Vertical Cover for Basefeed w/ Post Leg Connector, Connects to Power Beam Raceway w/ Electrical Cut Out, End of Run Trim Included, Power Not Included	\$ 237.00	\$237.00
			~STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
9	2	EVPBIEC06	6"h, Power Beam Inline Extension Connector, Non-Slotted, Includes Connecting Hardware, Must Be Attached to Power Beam Connector w/ Provided Screw Before Installing Power Beam Raceway	\$ 49.00	\$98.00
			~STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
10	1	EVPBL36	36"h x 18"w, T-Leg Connector w/ Adjustable Glides, Use Throughout Power Beam Span for Stability	\$ 150.00	\$150.00
			~STD Standard Paint Colors Skipped Option		
			Skinned Ontion		
			Зкіррец Оршоп		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
11	2	EVPBLERT42	39.4"h, End of Run Aluminum Trim for Connector Legs	\$ 81.00	\$162.00
			~STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
			Cille v Colley Laminata Extension Madula Daylela Cided Ton		
12	1	EVPH2SE0660	6"h x 60"w, Laminate Extension Module, Double Sided, Top Trims are not Included with Extension Modules	\$ 632.00	\$632.00
			~STD Standard Paint Options		
			~STD Panels w/ Matching Horizontal Reveal		
			Skipped Option		
			~Laminate HP LAM		
			O1 HP		
			Skipped Option		
			I1 HP		
			Skipped Option		
			Skipped Option		
13	1	EVPMP60GI9P	9"h x 60"w, Panel Mount Privacy Glass, Integrated Channel Extrusion with Aluminum Top Trim for Square Glass	\$ 383.00	\$383.00
			~STD Standard Paint Colors		
			Okina ad Ontian		
			Olding and Omation		
			Skinnad Ontion		
GCU			Зкіррец Орноп		
			AEIlle on OA Eille on O. AEille Folk Donnille Dividen Commente Donnille		
14	2	BWAFP2258	45"w x 21.5"h x 6.45"d, Felt Parallel Divider, Connects Paralle 1.625" Gap Between Worksurface and Divider Allows for Cabl Pass-Through, Includes 2 Support Brackets, FREEFIT	^{l,} \$ 552.00 e	\$1,104.00
			~FFR FreeFit PET Felt Finishes		



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
			Sk	ipped Option		
			Sk	ipped Option		
			Sk	ipped Option		
15	4	GJNLEG30		eling glides. For assembly with 30" deep tops. 27.5H, JUNCTION	\$ 317.00	\$1,268.00
				nction Metal Leg Finishes ipped Option		
				ipped Option		
			Эк	pped Option		
16	4	JNCP		Casters that Includes One Locking and One Caster, JUNCTION	\$ 63.00	\$252.00
				ipped Option		
17	2	JNRU3060		ops-Pre-drilled w/threaded steel inserts for inking installs. 30D x 60W x 1H, JUNCTION	\$ 633.00	\$1,266.00
			~ (S ⁻	ΓD) Thermally Fused Laminate, High Performance (1" Th	ick)	
			~JLAM Jui	nction Top Finishes		
			Sk	ipped Option		
			~ (St	d) Standard Edge		
			~ Gro	ommet/Electric/Villa Not Required - Left Position		
			~ Gre	ommet/Electrical/Villa Not Required - Center Position		
			~ Gro	ommet/Electric/Villa Not Required - Right Position		
			~ Gro	ommet/Electric/Villa Not Required - Custom Grommet Lo	cation	
			Sk	ipped Option		

ALIAS SUBTOTAL: \$ 6,919.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			EPB525-W 4-Pack		
EPB 18	1	EVE8CP17	17" - Flexible Mesh Jumper	\$ 126.00	\$126.00
19	1	EVE8FR3PB	Skipped Option 84" Long, Power Beam Basefeed Power Entry, Flexible Vinyl Conduit, Snaps to Power Distribution Housing, Includes Bracket to Attach to Vertical Cover, Must be Hardwired by a Licensed Electrician	\$ 484.00	\$484.00
20	2	EVE8PD60	Skipped Option 60", Power Distribution Housing	\$ 259.00	\$518.00
21	2	EVE8RD1WHT	Skipped Option #1 Utility Circuit, Duplex Receptacle, White, Use an I-Connector w/ Duplex to allow for an additional Duplex in 66"w and 72"w Raceway	\$ 41.00	\$82.00
22	2	EVE8RD2WHT	Skipped Option #2 Utility Circuit, Duplex Receptacle, White, Use an I-Connector w/ Duplex to allow for an additional Duplex in 66"w and 72"w Raceway	\$ 41.00	\$82.00
23	2	EVE8RDAWHT	Skipped Option A, Dedicated Circuit, Duplex Receptacle, White, Use an I-Connector w/ Duplex to allow for an additional Duplex in 66"w and 72"w Raceway	\$ 41.00	\$82.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
24	2	EVE8RDBWHT	B, Dedicated Circuit, Duplex Receptacle, White, Use an I-Connector w/ Duplex to allow for an additional Duplex in 66"w and 72"w Raceway	\$ 41.00	\$82.00
			Skipped Option 6"h x 60"w, Power Beam Raceway w/o Electrical Cut Out for		
25	1	EVPB60	Basefeed, 3 Knockouts, Aluminum Top Cap, Aluminum Botton Trim, Power Not Included	າ \$ 460.00	\$460.00
			Skipped Option		
			~STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
26	1	EVPBE60	6"h x 60"w, Power Beam Raceway w/ Electrical Cut Out for Basefeed, 3 Knockouts, Aluminum Top Cap, Shortened Aluminum Bottom Trim for Electrical Access, Bracket to Connect Vertical Cover w/ Leg (Sold Seperately), Power Not Included	\$ 460.00	\$460.00
			Skipped Option		
			~STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
27	1	EVPBFCG36	36"h x 6"w x 3"d, Vertical Cover for Basefeed w/ Post Leg Connector, Connects to Power Beam Raceway w/ Electrical Cut Out, End of Run Trim Included, Power Not Included	\$ 237.00	\$237.00
			~STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
28	1	EVPBGICB36	36"h x 2"w, Post Leg Connector w/ Adjustable Glide, Use In Conjunction w/ T-Leg Connectors	\$ 85.00	\$85.00



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
			~STD	Standard Paint Colors		
			•••	Skipped Option		
				Skipped Option		
29	3	EVPBIEC06	Includes C	r Beam Inline Extension Connector, Non-Slotted, connecting Hardware, Must Be Attached to Power nector w/ Provided Screw Before Installing Power eway	\$ 49.00	\$147.00
			~STD	Standard Paint Colors		
				Skipped Option		
				Skipped Option		
30	1	EVPBL36		w, T-Leg Connector w/ Adjustable Glides, Use ut Power Beam Span for Stability	\$ 150.00	\$150.00
			~STD	Standard Paint Colors Skipped Option		
				Skipped Option		
			•••			
31	2	EVPBLERT42	39.4"h, En	d of Run Aluminum Trim for Connector Legs	\$ 81.00	\$162.00
			~STD 	Standard Paint Colors Skipped Option Skipped Option		
32	2	EVPH2SE0660		r, Laminate Extension Module, Double Sided, Top not Included with Extension Modules	\$ 632.00	\$1,264.00
			~STD ~STD ~Laminate O1 	Standard Paint Options Panels w/ Matching Horizontal Reveal Skipped Option HP LAM HP Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			I1 HP		
			Skipped Option		
			Skipped Option		
33	2	EVPMP60GI9P	9"h x 60"w, Panel Mount Privacy Glass, Integrated Channel Extrusion with Aluminum Top Trim for Square Glass	\$ 383.00	\$766.00
			~STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
			Skipped Option		
GCU					
34	4	BWAFP2258	45"w x 21.5"h x 6.45"d, Felt Parallel Divider, Connects Parallel, 1.625" Gap Between Worksurface and Divider Allows for Cable Pass-Through, Includes 2 Support Brackets, FREEFIT	\$ 552.00	\$2,208.00
			~FFR FreeFit PET Felt Finishes		
			Skipped Option		
			Skipped Option		
			Skipped Option		
35	8	GJNLEG30	"Y" Leg w/leveling glides. For assembly with 30" deep tops. 27.5D x 2W x 27.5H, JUNCTION	\$ 317.00	\$2,536.00
			~JMTL Junction Metal Leg Finishes		
			Skipped Option		
			Skipped Option		
36	8	JNCP	Single Pair of Casters that Includes One Locking and One Non-Locking Caster, JUNCTION	\$ 63.00	\$504.00
			Skipped Option		



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
37	4	JNRU3060		lar Tops-Pre-drilled w/threaded steel inserts for ing/linking installs. 30D x 60W x 1H, JUNCTION	\$ 633.00	\$2,532.00
			~	(STD) Thermally Fused Laminate, High Performance (1" Th	ick)	
			~JLAM	Junction Top Finishes		
				Skipped Option		
			~	(Std) Standard Edge		
			~	Grommet/Electric/Villa Not Required - Left Position		
			~	Grommet/Electrical/Villa Not Required - Center Position		
			~	Grommet/Electric/Villa Not Required - Right Position		
			~	Grommet/Electric/Villa Not Required - Custom Grommet Lo	cation	
				Skipped Option		

ALIAS SUBTOTAL: \$ 12,967.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			EPB525-W 6-Pack		_
38	2	EVE8CP17	17" - Flexible Mesh Jumper	\$ 126.00	\$252.00
39	1	EVE8FR3PB	Skipped Option 84" Long, Power Beam Basefeed Power Entry, Flexible Vinyl Conduit, Snaps to Power Distribution Housing, Includes Bracket to Attach to Vertical Cover, Must be Hardwired by a Licensed Electrician	\$ 484.00	\$484.00
40	3	EVE8PD60	Skipped Option 60", Power Distribution Housing	\$ 259.00	\$777.00
41	3	EVE8RD1WHT	Skipped Option #1 Utility Circuit, Duplex Receptacle, White, Use an I-Connector w/ Duplex to allow for an additional Duplex in 66"w and 72"w Raceway	\$ 41.00	\$123.00
42	3	EVE8RD2WHT	Skipped Option #2 Utility Circuit, Duplex Receptacle, White, Use an I-Connector w/ Duplex to allow for an additional Duplex in 66"w and 72"w Raceway	\$ 41.00	\$123.00
43	3	EVE8RDAWHT	Skipped Option A, Dedicated Circuit, Duplex Receptacle, White, Use an I-Connector w/ Duplex to allow for an additional Duplex in 66"w and 72"w Raceway	\$ 41.00	\$123.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
44	3	EVE8RDBWHT	B, Dedicated Circuit, Duplex Receptacle, White, Use an I-Connector w/ Duplex to allow for an additional Duplex in 66"w and 72"w Raceway	\$ 41.00	\$123.00
45			Skipped Option 6"h x 60"w, Power Beam Raceway w/o Electrical Cut Out for	•	
45	2	EVPB60	Basefeed, 3 Knockouts, Aluminum Top Cap, Aluminum Bottor Trim, Power Not Included	n \$ 460.00 n	\$920.00
			Skipped Option		
			Sкipped Option ~STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
46	1	EVPBE60	6"h x 60"w, Power Beam Raceway w/ Electrical Cut Out for Basefeed, 3 Knockouts, Aluminum Top Cap, Shortened Aluminum Bottom Trim for Electrical Access, Bracket to Connect Vertical Cover w/ Leg (Sold Seperately), Power Not Included	\$ 460.00	\$460.00
			Skipped Option		
			Sкipped Option ~STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
47	1	EVPBFCG36	36"h x 6"w x 3"d, Vertical Cover for Basefeed w/ Post Leg Connector, Connects to Power Beam Raceway w/ Electrical Cut Out, End of Run Trim Included, Power Not Included	\$ 237.00	\$237.00
			~STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
48	1	EVPBGICB36	36"h x 2"w, Post Leg Connector w/ Adjustable Glide, Use In Conjunction w/ T-Leg Connectors	\$ 85.00	\$85.00



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
			~STD	Standard Paint Colors		
				Skipped Option		
				Skipped Option		
49	4	EVPBIEC06	Includes C	r Beam Inline Extension Connector, Non-Slotted, connecting Hardware, Must Be Attached to Power nector w/ Provided Screw Before Installing Power eway	\$ 49.00	\$196.00
			~STD	Standard Paint Colors		
			•••	Skipped Option		
				Skipped Option		
50	2	EVPBL36		w, T-Leg Connector w/ Adjustable Glides, Use ut Power Beam Span for Stability	\$ 150.00	\$300.00
			~STD	Standard Paint Colors		
				Skipped Option		
			•••	Skipped Option		
51	2	EVPBLERT42	39.4"h, En	d of Run Aluminum Trim for Connector Legs	\$ 81.00	\$162.00
			~STD 	Standard Paint Colors Skipped Option Skipped Option		
52	3	EVPH2SE0660		r, Laminate Extension Module, Double Sided, Top not Included with Extension Modules	\$ 632.00	\$1,896.00
			~STD ~STD ~Laminate O1 	Standard Paint Options Panels w/ Matching Horizontal Reveal Skipped Option HP LAM HP Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			I1 HP		
			Skipped Option		
			Skipped Option		
53	3	EVPMP60GI9P	9"h x 60"w, Panel Mount Privacy Glass, Integrated Channel Extrusion with Aluminum Top Trim for Square Glass	\$ 383.00	\$1,149.00
			~STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
			Skipped Option		
GCU					
54	6	BWAFP2258	45"w x 21.5"h x 6.45"d, Felt Parallel Divider, Connects Parallel, 1.625" Gap Between Worksurface and Divider Allows for Cable Pass-Through, Includes 2 Support Brackets, FREEFIT	\$ 552.00	\$3,312.00
			~FFR FreeFit PET Felt Finishes		
			Skipped Option		
			Skipped Option		
			Skipped Option		
55	12	GJNLEG30	"Y" Leg w/leveling glides. For assembly with 30" deep tops. 27.5D x 2W x 27.5H, JUNCTION	\$ 317.00	\$3,804.00
			~JMTL Junction Metal Leg Finishes Skipped Option		
			Skipped Option		
56	12	JNCP	Single Pair of Casters that Includes One Locking and One Non-Locking Caster, JUNCTION	\$ 63.00	\$756.00
			Skipped Option		



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
57	6	JNRU3060		lar Tops-Pre-drilled w/threaded steel inserts for ing/linking installs. 30D x 60W x 1H, JUNCTION	\$ 633.00	\$3,798.00
			~	(STD) Thermally Fused Laminate, High Performance (1" Th	nick)	
			~JLAM	Junction Top Finishes		
				Skipped Option		
			~	(Std) Standard Edge		
			~	Grommet/Electric/Villa Not Required - Left Position		
			~	Grommet/Electrical/Villa Not Required - Center Position		
			~	Grommet/Electric/Villa Not Required - Right Position		
			~	Grommet/Electric/Villa Not Required - Custom Grommet Lo	cation	
				Skipped Option		

ALIAS SUBTOTAL: \$ 19,080.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			EPB525-W 8-Pack		
58	3	EVE8CP17	17" - Flexible Mesh Jumper	\$ 126.00	\$378.00
59	1	EVE8FR3PB	Skipped Option 84" Long, Power Beam Basefeed Power Entry, Flexible Vinyl Conduit, Snaps to Power Distribution Housing, Includes Bracket to Attach to Vertical Cover, Must be Hardwired by a Licensed Electrician	\$ 484.00	\$484.00
60	4	EVE8PD60	Skipped Option 60", Power Distribution Housing	\$ 259.00	\$1,036.00
61	4	EVE8RD1WHT	Skipped Option #1 Utility Circuit, Duplex Receptacle, White, Use an I-Connector w/ Duplex to allow for an additional Duplex in 66"w and 72"w Raceway	\$ 41.00	\$164.00
62	4	EVE8RD2WHT	Skipped Option #2 Utility Circuit, Duplex Receptacle, White, Use an I-Connector w/ Duplex to allow for an additional Duplex in 66"w and 72"w Raceway	\$ 41.00	\$164.00
63	4	EVE8RDAWHT	Skipped Option A, Dedicated Circuit, Duplex Receptacle, White, Use an I-Connector w/ Duplex to allow for an additional Duplex in 66"w and 72"w Raceway	\$ 41.00	\$164.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
64	4	EVE8RDBWHT	B, Dedicated Circuit, Duplex Receptacle, White, Use an I-Connector w/ Duplex to allow for an additional Duplex in 66"w and 72"w Raceway	\$ 41.00	\$164.00
			Skipped Option		
65	3	EVPB60	6"h x 60"w, Power Beam Raceway w/o Electrical Cut Out for Basefeed, 3 Knockouts, Aluminum Top Cap, Aluminum Botton Trim, Power Not Included	n \$ 460.00 m	\$1,380.00
			Skipped Option		
			Sкipped Option ~STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
			·······		
66	1	EVPBE60	6"h x 60"w, Power Beam Raceway w/ Electrical Cut Out for Basefeed, 3 Knockouts, Aluminum Top Cap, Shortened Aluminum Bottom Trim for Electrical Access, Bracket to Connect Vertical Cover w/ Leg (Sold Seperately), Power Not Included	\$ 460.00	\$460.00
			Skipped Option		
			~STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
67	1	EVPBFCG36	36"h x 6"w x 3"d, Vertical Cover for Basefeed w/ Post Leg Connector, Connects to Power Beam Raceway w/ Electrical Cut Out, End of Run Trim Included, Power Not Included	\$ 237.00	\$237.00
			~STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
68	2	EVPBGICB36	36"h x 2"w, Post Leg Connector w/ Adjustable Glide, Use In Conjunction w/ T-Leg Connectors	\$ 85.00	\$170.00



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
			~STD	Standard Paint Colors		
			•••	Skipped Option		
				Skipped Option		
69	5	EVPBIEC06	Includes C	r Beam Inline Extension Connector, Non-Slotted, onnecting Hardware, Must Be Attached to Power nector w/ Provided Screw Before Installing Power eway	\$ 49.00	\$245.00
			~STD	Standard Paint Colors		
				Skipped Option		
				Skipped Option		
70	2	EVPBL36		w, T-Leg Connector w/ Adjustable Glides, Use ut Power Beam Span for Stability	\$ 150.00	\$300.00
			~STD	Standard Paint Colors		
			•••	Skipped Option		
				Skipped Option		
71	2	EVPBLERT42	39.4"h, En	d of Run Aluminum Trim for Connector Legs	\$ 81.00	\$162.00
			~STD 	Standard Paint Colors Skipped Option Skipped Option		
72	4	EVPH2SE0660		, Laminate Extension Module, Double Sided, Top not Included with Extension Modules	\$ 632.00	\$2,528.00
			~STD ~STD ~Laminate O1 	Standard Paint Options Panels w/ Matching Horizontal Reveal Skipped Option HP LAM HP Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			I1 HP		
			Skipped Option		
			Skipped Option		
73	4	EVPMP60GI9P	9"h x 60"w, Panel Mount Privacy Glass, Integrated Channel Extrusion with Aluminum Top Trim for Square Glass	\$ 383.00	\$1,532.00
			~STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
			Skipped Option		
GCU					
74	8	BWAFP2258	45"w x 21.5"h x 6.45"d, Felt Parallel Divider, Connects Parallel, 1.625" Gap Between Worksurface and Divider Allows for Cable Pass-Through, Includes 2 Support Brackets, FREEFIT	\$ 552.00	\$4,416.00
			~FFR FreeFit PET Felt Finishes		
			Skipped Option		
			Skipped Option		
			Skipped Option		
75	16	GJNLEG30	"Y" Leg w/leveling glides. For assembly with 30" deep tops. 27.5D x 2W x 27.5H, JUNCTION	\$ 317.00	\$5,072.00
			~JMTL Junction Metal Leg Finishes Skipped Option Skipped Option		
			11 - 1		
76	16	JNCP	Single Pair of Casters that Includes One Locking and One Non-Locking Caster, JUNCTION	\$ 63.00	\$1,008.00
			Skipped Option		



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
77	8	JNRU3060	Rectangular Tops-Pre-drilled w/threaded steel inserts for freestanding/linking installs. 30D x 60W x 1H, JUNCTION		\$ 633.00	\$5,064.00
			~	(STD) Thermally Fused Laminate, High Performance (1" Th	ick)	
			~JLAM	Junction Top Finishes		
				Skipped Option		
			~	(Std) Standard Edge		
			~	Grommet/Electric/Villa Not Required - Left Position		
			~	Grommet/Electrical/Villa Not Required - Center Position		
			~	Grommet/Electric/Villa Not Required - Right Position		
			~	Grommet/Electric/Villa Not Required - Custom Grommet Lo	cation	
				Skipped Option		
			ALIAS SU	JBTOTAL: \$ 25,128.00		

TOTAL EXTENDED LIST: \$64,094.00